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- REVIEW#1

q istionl/WORK : T ANSWER

1. | The mmlmum point on the graj o the equation y = f(x) is (-1,~3). What
" | is the minimum point on the gr 1hofthe equation y = f(x) + 57 '

NS =)

2. _Which transformatlon ofy =70 muves the graph 7 units to the leftand 3
units down?

2 -3
2) yE e+ 743
3) yEf-7)-3

| ® rEfe-7e3

3. Derive _the g{quation of a parabi liven the focus of (0,4).and the directrix
y=2. - :

4. The function f(x) is graphed or ltelise  of axes below. On the same set of
axes, graph f(x+ 1)+ 2.

—
et
.




\: A meteorologist drew the accompanying graph to show the changes in relative

humidity during a 24-hour period in New York City.
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What is the range of this set of data?
1) 0<y=24
2) 0Lx524
3) 30<y <80
4) 30<x<80
6. 2 3
Factor: D2 +Jax —3x
7.

6x—2y—4z=-8
Solve the system: 3x—-5y+5z=-14
x+y-5z=6




8. Multiply (2x3 + 1) (Sx2 + 4)'and v [te yqur result in simplest form.
9. Writé aniequation of the line, inp :at-slope form, whose slope is 5 and
passes through (-5, 3).
10. | Find thelslope of the line thatpas is thrpugh the points
(5.-2)]and (20, 4).
11,




'REVIEW # 2

Question/WORK

ANSWER

1. ' x—2y+z=-11
Solve the system: 3x+2y—z=7
—X+2y+4z=-9

2. Write, in POINT-SLOPE form, the equation of the line that passeé
through points (-1, 2) and (7,-3). :




‘ v (te the equation of the parabola that is
the collection of all points eq distant from (4, 1 ) and y=-3.

Which! equation represents a arab

f(x)=-2x*~8x+5.

4. ola with a focus of (0,4) and a
directrix of y=27
(D) y=x"+3 (1 y=-x"+1
3) L (| Llsys
i 3 y 4
5. Find the axis of stmetry of e p_arabola whose equation is -
f(x)=-2x*~8x+5. '
6. Find the vertex of the parab: i1 whpse equation is




Find the y-intercept of the parabola whose equation is

f(x)=-2x*-8x+5.

8. Graph (%) = ~fx— 2 + 3, without a calculator (using
transformations).
16
B
2
TR AN R ) T
18
¥
> State the domainof f{x) = Nx=2 43
10. |
State the range of f(x)= ~fx-2 +3
11. | The table below shows the heights, y of a competitive water skier x
seconds after jumping off a ramp. Use your calculator to
write a function that model the height of the water-skier over
time. When is the water-skier 5 feet above the water? How
long is she in the air?
Time (seconds), X 0. .25' .75 1 1.1
Height (feet), vy 22 225 | 175 { 12 | 9.24




" REVIEW #3

Que:

ion/WORK

ANSWER

The relationship between t, a stud
success in college, is modeled by t
linear regression model, the corre

1) between—-1and0

~+

2) be vaeen Dand1
3) equ‘al to -1

4) equ{al to0

.t’seutes_t scores, and d, the student’s
eiqugtion & = 0.48¢+ 75.2. Based on this
iion coefficient could be

‘Factor: 1§a? +9ab-3b-2¢

| Solve 22 — 12x+4 =10 by ¢°mb‘e'

simplest radical form.

g the square, expressing the result in -

The conjugate of 7— 51 is

1) —7L571
2) -7k 58
3) 751

4) 743




Multiply > t+y i by its conjugate, and express the product in simplest form.

7. Which equation represents the function shown in the accompanying graph?
AN ; v
F 3
/
“ " X
1) fx)=|xf+1
2) fX)=|x|-1
3) f)=|x+1]
4) ) =|x~1f
8. The accbmpanying graph illustrates the presence of a certain strain of bacteria .

at various pH levels.
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What is the range of this set of data?




10.

1. Boive the sysieto of equations:
Sx+dy = -9
-x‘+4y—22 -25




REVIEW # 4

Question/WORK

ANSWER

In an electrical circuif, the voltage, 5 in volts, the current, / in amps, and
the opposition to the flow of current, called impedance, Z in ohms, are
related by the equation £ = IZ, A circuit has a current of (3 + 7) amps and

an impedance of (-2 + i) chms. Determine the voltage in 2+ i form.

, -3x—-y+6z=-17
Solve the system: -3x-S5y~5z=21
—6x+y+3z=-28

Which equation has imaginary roots?
1) x*-2x+1=0
2) x?-2x-1=0
3) x*-2x+5=0

4) x2-2x—-5=0




temperatures at various depths in an

Factort 1 __x_xg + X

5. The data table below shows wat:
ocean.
Water Depth |§- | Temperature (y)
{meters) °C
50 S R 18
75 ‘ 15
100 12
150 7
200
Write the linear regression equ: .o for this set of data, rounding all values
to the nearest thousandth. Usin (his equation, predict the temperature
(2C), to the nearest integer,ata ater depth of 255 meters.
| .
6. 3




The graph of g(x) is given below. Graph y=g(-2x) on the same axes.

Write the equation of the line that passes through the points (-4,4) and
(2,-1) in POINT-SLOPE FORM.

Which equation has imaginary roots?
1) x2-2x+1=0
2) xX*-:x~1=0

3) ¥*-2x+5=0

1 4) x*-2x-5=0

10.

' 1-x
How many points of intersection does the system Y ) have?
' X




REVIEW #5

Que: len{WORK ANSWER
1.
2.
3. ‘ Write an equation of the parabole rhivsd focus is (2,3) and directrix is y=-1.
4 Factor: a—at-a*+1
5. Which equation has imaginary r¢ |s¥
1) ¥1=0
2) x3-2=0
3) x3+x+1=0
4) xl-x-1=0

Y

(&)

)




The mid-September statewide average gas prices, in dolfars per gallon, (v}, for
the years since 2000, (x), are given in the table below.

Year Since 2006 Price Per Gallon
) 87
1 1.345
2 , 1.408
3 1.537
4 1.58

Write a linear regression equation for this set of data. Using this equation,
determine how much more the actual 2005 gas price was than the predicted
gas price if the actual mid-September gas price for the year 2005 was 52.956.

The accompanying graph represents the equation y = f{x).

¥

Which graph represents gx) if gx) = ~f(x)?
1) H

2)




9. | state the conjugate of 9—+/11.
10. 3 2, A
Solve by|factoring: X~ + Tx“ - ¢-T=0
L —
1.
! | x +yf =25
Solve tWe system algebraically: 4 43 Y= 0

12,




"REVIEW # 6

Question/WORK ANSWER
1 Factor Completely: 4x® +4x—63
2. Factor Completely: x*—y*

3. Simplify the expression (x2 +1)2 ~2x?
4. Solve: x*+7x>—x~7=0
5. | State the y-intercept of f(x)=x*—6x+2




quadratic and the other is linea juch {
usinggraphs, algebra, and/orw id:, W

8. EvaluatT the discriminanit of x* — 2420,

S. Solve x* —6x+2 =0 by Comple (g the Square.

10. Write Tn equation of a parabola  which the focus point is (1,1) and directrix is
=-3., ' : ’

11. Writela system of two equatior |n 'i;w%» variables where one equatioh is

hat the system has no solution. Explain,
shy the system has no solution.




" REVIEW # 7

Question/WORK

ANSWER
. 3 2 .
. Divide using long division: (x +3x" —x— 8)‘-’ (x - 1)
2, Explain why (x-1) is or is not a linear factor of (x3 +3xt - x- 8) .
3. Write an equation of the parabola whose focus is (0,4) and directrix is y=2.

4. Write (5+ 2yi)(4 - 31’) -(5 -2yi) (4 —31') in a+bi form, where y is a real
number. . »




Show that x-4 is a factor of the func »n f(x) =2x° ~5x? ~11x—4. Explain
1IoUr answer.

6. / T ’ o r e '.-—;'.'.:'_'::@
@
- e e —m [ n
scRoRmaET
7. Find the axis of symmetry of f(x #3x*~6x+5.
8. A

a?

If \/_3\7;~x+1)5 =(x+1)a,for3 1=1

P

d

ind a is constant, what is the value of |




REVIEW #8

‘Question/WORK

ANSWER
Lo . 4x-2y+62=10
Solve the system:  x+3y+z=16
S5y—-z=19
2. | State the conjugate of 5 —-«/7.
3. Solve: x*>+3x~3=0




J

4, l A byl
' x" H5x
Solve the system by graphing: )
)y 2r #5x
1al T
o T
A T
n L
2 %
RINAEARER 2 Bl
I 1P ‘ 2 e
’ ok
4 -
ol T
. ]
19 e
> Factor completely: 16x* —81y*
6. identify the axis of symmetry, v e, the maximum or minimum value, AND
the rapge of y=x"+8x+18.
<\

oy




Show that 2x+5 s a linear factor of 6x* +15x° —14x? ~27x+20. Explain
your answer.

Write an equation of the parabola whose VERTEX is (-5,-2) and FOCUS is (-5,-6)




REVIEW #9

n/WORK

’

f Que: i¢ ANSWER
! o
1. Which of the following functions « ir¢:ases as the input values approach both
negativ; infinity and paositive infir |?
(1) f=x"-4x"+x
(2) g(®)=-2x"—-4x*+9
(3) h(@) =x"—4x* +2x+8
(4) r()=~x*+9x° +x* +8x+
2. Which of the following could ider 'y the transformation of a parabola w'ni\a
vertex of (-4, -6} to parabofa witt  vertex of (2, -6}?
(1) flx)+5
2) 5f(x)
(3) f(x+5)
4) flx-5)
L —
3.
.w f £
: ?4:), 41\
s
4. Simpllfy 8i® +6i° -5 -3~ -4
5. Determine the points of inters¢ lion \;tar x+ y2 =landy=x+1?
-
2




solve (x-5)" =9

A boy standing on the top of an apartment buildihg in Albany throws a water
balloon up vertically. The height, h (in feét), of the water balloon is given by
the equation A(f) =—16¢* + 64t +192, where t is the time (in seconds) after

he threw the water balloon, What is the value of t when the balloon hits the
ground? Explain and show how you arrived at your answer.

Divide (x” +7x% +14x+3) by (x+2). Is-(x+2) afactor of
(x° +7x* +14x+3) ? Explain why or why not.




.

9. Factor completely: x* —13x? +3¢
L xX+2y-z= — I
10. | Solve the system:  2x+y+z= |

X+2y+z= i




11,

Graph f(x)=x"—-2x~4.

v

Based on the graph, what is the real solution to the equation x° —2x~4=07

Verify algebraically that itis a zero of f(x).

Write f(x) as a product of a linear factor and a quadratic factor.

Find the two complex number zeros of f(x).




REVIEW # 10

ANSWER

Solve:

x+10.=~7

1 Que j@y WORK

2.

i

- Which equation has non-real jlutigns?

2% +4x-12=0
2x* +3x=4x+12
2x* +4x+12=0
2x* +4x=0

@
(2)
3
C)

Solve:| 2x* —x+1=0

|

the corresponding table of v |ues:

Find a polynomial function+ dixgnee 3 in standard form which has

XY
4 |18
3 0
2 | -4
1 0
0 6
-1 1 8
210
-3 | -24
-4 1-70




Use the graph of f(x)=x’-6x*+11x—6 to rewrite f(x) as a product
of linear factors. :

A
e

Write —4+/—48 in simplest form.

7
Write 7% in simplest radical form.




14x

12

Solve: +——=8+-—"—
3

x-3

10. | The vertex of a parabola, #(x has doordinates (-3, 5). Determine
the coordinates of the vertex « the parabola defined by f(x+3).
11. x=2y lz=
Solve the system: 2x+y z=4
-3x+! 1=27=-10
/\\




 REVIEW # 11

Question/WORK

ANSWER

1 The polynomial p(x) =2x>+13x* + 17x.~12 has (x+4) as a factor.

(a) Factor the polynomial into three linear terms.

(b) Describe the steps you would use to sketch the graph of the function

(without a calculator). Identify all intercepts and describe the end behavior of
the graph.

2. Given: f(x)=x*~4x.

(a) Write an expression that defines f{(x+5).

{b) Describe the transformation that maps the graph of f(x) to f(x+35).

&



f()=

gx)y="-x

.

Given the two functions , Simplify  2f(1-x)~3g(x)

- -

Factorlcompletely: 162x* -144 ~+32

Write|a quadratic equation inw 1-h the sum of the roots is -3 and product of
the rootsis 5.




2(m)

Simplify —= and write your answer with a fraction exponent.
T ' one
8. Write an equation that represents a parabola with a focus of (0,4) and directrix
of y=27? :
9. e £
0. | [ 3 o . .
If y3/(x+1)" =(x+1, for x>~1 and a is constant, what is the value of
a? '




REVIEW #[12

Que: ion/WORK ANSWER

1 Forehefuict =53 17Tnd P

2. Factor} (2a—1)°+8

3. Statetiresunrand preduch-o Iui»‘ﬁ‘a;s»ﬁf%a&f-wé'\fo

: ) i (Hint: Ifwe factor by
4. - . AR 3 2 grouping with 4 terms
FACTOR COMPLETELY: k& —~4k" +8%k" —32k+12k" ~48  how about we factor
by “chunking” with 6 ...
break it into 3 groups of
2. See structure in
expressions ... this is on
the newly released
sample test for Algebra
2. You need to be
willing & able to think
outside of the baox{)




Rewrite the expression (4x? +5x) — 5(4x2 + Sx) —6as a product of
four linear factors.

(Again - see the structure in expressions - can you see ti1is as x* ~5x—6 7 How
does that factor?)

“The minimum point on the graph of the equation y = f(x) is (-1,~3). What
is the minimum point on the graph of the equation y = f{x) + 5?7

1) ("‘1 » 2)
2) (_1’ “8)
3) (43 '—3)

4‘) ("67 "’3)

Derive the equation of a parabola given the focus of (0,4) and the directrix
y=2.




gi_q{(:;_s_ Qpe form, whose slope is 5 and

8.. Write an equation of the line, in
passes through (-5, 3).
. 2 3
> octor B@* +Tax—3x
10. 6x~2y—4z -

Solve t]Le system: 3x—~5y+5z

x+y-5Sz=1

-14




© REVIEW #13

Question/WORK

ANSWER

1. ‘Write a quadratic equation in which the roots are 2+i and 2—i .

, -

4, Consider the parabola with focus point (1, 1) and directrix the horizontal line
¥y = —3. Find the equation of the parabola.




Factor gompletely: (2n—1) -2’

Write an equation of the ling, iny im:rr-s!J?pe form, that goes through (5,52) and
(2,5) |
: f

The graph of the polynomial func o f(x) = x* +4x* + 6x + 41is shojwn

y

below. 7
, 7
a.! Based on the appearan pf the
graph, what doesthe re  solution to _ ,[
| the equation + i

%3 +4x2 + 6x +4 =( |ppear to be?

by Jiju does not trust the ¢ ;uracy of the graph. Prove to her
algebraically that your iswerlis in fact a zero of y = f(x).

¢. Find the two complext mberjzerosof x> +4x2 + 6x+4 =0




" REVIEW # 14

Question/WORK

ANSWER

1. | Write an equation of the parabola with a focus of (0, 4) and a directrix of y=2,




Write (5+2 Vi) (4-30)—(5-2yi)(4 3i)insimplest >a +bi form, whereyis a
real number. : ' - :

Use an apptopriate procedure to sh 7that x —4 is a factor of the function

f(®)=2x]~5x* -11x—4. Explaii 'our answer.

Solve algebraically for all values of

Jx G4x=7




